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2. What is the name of the angle of an isosceles triangle formed by rays containing the two 4, LlSt three conJe tures about lSOSCGleS triangles.
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3. Use your Patty Paper exploration to help you decide if each statement is true or false for "V\ «, tS Yﬂﬂ/n E’- ’FYom VLVkX
any triangle ABC. wﬂl 0 £ W ba bC
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5. REINFORCE In AABC, suppose AB = 15 cm, BC = 15 cm, AD = 2x - 8 cm, B 6. REINFORCE In AABC above, suppose mZABD = (x* - 5)° and mZCBD = 4x°. Solve for x.

and DC = 4x - 20 cm. Solve for x. IS- 7-—/ —_—
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Complete:
o Cwk #18 on Agile Mind
e Turn in a paper copy before you leave

Hwk #27 due on Monday!
e Exterior Angle Theorem Worksheet & Agile Mind questions



